








11 Inthe circuit shown below the device P iy used 1o
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a)  Write the name of the device P, P DuBmamanisagg GBS,
b} Write any one method 1o vary the brighiness ;; pm DT T el T Ny aog erucd
of the bulb by changing the properties of P mﬂmﬁmmﬂmm
¢) Useofan ordinary resistance instead of the dimes ey 2o ridbelam,
device P is not economic, Why 7 €) Pmmmmmﬂﬂﬁm
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12. Figure shows the path of light ray travelling from | 12, @reicudrrmmome 1, 988 @Wme 1 @ e
medium 1 of refractive index n, 1o medium 2 of T D88 BXLDa? deksiruarm
refractive index n, BTN B0 L8000 RSN o_tom 2 o)
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a) Statethe law connecting the angles shown in 3 almendee feniy sy
figure with the given refractive indies, pamagasal srmspflaaym oamjo
b) Istotal internal reflection possible in this case b} admmeglanes doaid Ly Uyl
byalﬁuslingll'iedirmtionufimidemra}r.why? Eﬁﬂ%ﬁﬂ@mmﬂ?mmmma
o) Ifn =n, redraw the givendiagram, ) mm utge.
(Scorc1+l+1) (morpod 1 +1+41)
}) Figure shows a defective eye, 13. X S mmec nyala Jeeym o




a) Write the name of the defect of the eye.

b) The near point of a person is 75cm from the
eye. What is the power of the lens required to
enable him toread clearly a book held at 25 cm

fromtheeve ? (Score 142)

14. Figure below shows complete polarisation of Tight
by reflection.

Incident

a) What is the angle between the reflecied ray
and refracted ray 7

b) Find the refractive index of the mediurn based
on the figure. {Score 142)
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Reflected
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b) al@eeld afone @o sownelegd
e LIDITT08h0 SHS M. (ampod 142)

Question numbers 15-19 carry four scores each. Answer any four questions.
15 aymat 19 cusmayga eaiosyemabes 4 arpod allme apemeleljo 4 6.0106)B0be6 AMOODE|E .

13. A network of resistors is shown in the figure.

aA

8N B

a) Write any two resistors that carry the same
current.

b) Calculate the current flowing through the
branch PAQ.

15. inaflanowsssains eny amprudes alimerid
anoenil aldleammy,
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